i A Bl

SHSQ0)FEEREMFEYR (TEH. EMF) HAE 0000 MK
X5 T £ REA) | #=2B) | "(AXB) fmAHEH
R—Fa5h 1+vhk 508 35 7B 8H
%g S—7 11wk 50%% 35| 2 70 (K)
RFa=7 1wk 508 35| 3 105 | EBWI-F#&
" HILET 1tvhk 508 35 2 70 9H9H
;:225 < )—a—)L 1tvb 508 35 1 35 /ZF (X
=7 1tvhk 508 35 1 35 All
EAREY (K) 1tk 508 50 1 50 |¢
s |ERE (1N 1k 508 50| 2 100 || EEDEAIME
=10 BT — 1tvhk 508 35 1 35 WTHZRZE
EE : ALTLEESLY,
BEEAS 1tk 508 35
JTia 14k 508 35 "
Z20) |MRENLD— 1tvhk 508 35 1 35 EE%;@{%@
EE |BAEEAS 1tk 508 35 1 35 OTH->TLEE ||
A—AJ5 45—(8) RE 229 7 2 14 LY,
L ATS5045—(A) == 200 7 3 21
LA TS5 8—F) RE 200 7] 3 21 || XEmMEEET
T55—(B) BE 130 5 EFEA,
P amt.)) BE 130 5
# BiEarRavy) 2 7 14
HHIY 6 3 18 |EDfERAIZEHLE
R—R1—)L R—Z20m 46 1 46 |BEWLET.
#  |B=RU=L R—A30m 50
EEz /XL e 4 50
E=XHARH5ERtEYk 11 ¢ X 900L 4 2 8
E=XHHARH5EKtEYk 11 ¢ x 1200L 5
E=XHARH5EKtEYk 11 ¢ x 1500L 7
ATULRTEIXSH 6 2 12
EEL =140 5 4 20
BEL §§ 1490 4 4 16
FELX KHi %140 4 3 12
FELT i 1 140 4 2 8
FEL I 143 140 4
BAt 148 149 4 2 8
E=1bRk 148 10Kg 17 1 17
B |IBIERS1E 14% 10Kg 40
# [ELXEARGHK) 148 10Kg 8 HeE A
- [EXERGER) 158 10K 7 SR SEDE
T EREREHISER) 145 1Kg 3 °
F [ARER(EFSER) 1£% 5Kg 6| 2 12
ARAIR(BELASHK) 1% 10Kg 9 1 9
4 5A 14% 200 4
AILLS (FiEl) 148 650g 10 A5 AL,
LS (FiFEl) 14% 3Kg 22 1 22 THREZEDES
BE=fAYr7—0ay 2000 mQ 7 RELAIZLT
FERAMNTOURRTL— 950 m@ 11 1 11 Q- A
AT ) FiEIS 143 3Kg 15
HET R v 859




